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Aufgaben-Quickname: 4949

Aufgabe 1
Quick:
4949

Trage eine der gegebenen Ziffern in die Lücke ein, sodass die Ungleichung wahr ist!

a) 88059 > 88039 b) 94074 < 99074 c) 55355 > 55155
d) 28844 > 21844 e) 81255 > 81155 f) 30506 > 30503
g) 24572 > 24272 h) 12695 > 12693 i) 81222 > 80222
j) 90123 < 90173
Aufgabe 2

Quick:
4949

Trage eine der gegebenen Ziffern in die Lücke ein, sodass die Ungleichung wahr ist!

a) 957726 < 957746 b) 207400 < 207403 c) 782384 = 782384
d) 750909 < 760909 e) 821602 < 821802 f) 817443 < 817449
g) 339600 = 339600 h) 916134 > 916124 i) 453050 > 433050
j) 907037 < 907137
Aufgabe 3

Quick:
4949

Trage eine der gegebenen Ziffern in die Lücke ein, sodass die Ungleichung wahr ist!

a) 2705 > 2405 b) 8961 > 8941 c) 8238 = 8238
d) 1834 < 2834 e) 2974 > 2972 f) 1420 < 1430
g) 2212 < 2232 h) 3841 < 3843 i) 2415 > 2115
j) 3785 > 3783
Aufgabe 4

Quick:
4949

Trage eine der gegebenen Ziffern in die Lücke ein, sodass die Ungleichung wahr ist!

a) 31 < 71 b) 57 > 53 c) 68 > 65 d) 33 < 36
e) 77 > 47 f) 14 < 44 g) 16 < 66 h) 28 > 18
i) 97 > 94 j) 24 > 23

Viel Erfolg!
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